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#!/bin/sh
[2CADDR=0x18

to_2s_complement ()
{
val=$1
sign=$ ((val & 0x8000))
if ' [ $sign -eq 0 1; then
val=§ ((((Cval)+1) & OxFFFF)*(-1)))
fi
echo $val

}

read_word_register ()

{
reg=$1
vall="i2cget —f —y 3 $12CADDR $reg b’
reg=$ ((reg+1))
valh="i2cget -f -y 3 $12CADDR $reg b"
echo $(((valh << 8) | vall))

}

measure ()
{

# 1mg/LSB scale factor

echo “echo $1 | awk ' {printf”%0.6f mg¥n”, $1/1000} °
]

# device check

whoami="i2cget —f -y 3 $12CADDR 0xOf b"

if [$2 1=071 || [ $whoami != 0x33 1: then
echo “Error: Communication error with LIS3DH. Make sure it's connected”
exit 1;

fi

# Enable low power mode, data rate = 100Hz
i2cset —f —y 3 $12CADDR 0x20 0x58 b
# Disable Temperatue, ADC

i2cset —f —y 3 $12CADDR Ox1F 0x00 b
# FIFO disable

val="i2cget —f -y 3 $12CADDR 0x24 b"
val=§ ((val & ~0x40))

i2cset —f —y 3 $12CADDR 0x24 $val b
# Full scale selection: 00 — +/-2G
val="i2cget —f -y 3 $12CADDR 0x23 b"
val=§ ((val & “0x30))

i2cset —-f -y 3 $12CADDR 0x23 $val b

while [ 11]1; do
# Disable low power mode and enable axis
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done

val="i2cget —f -y 3 $12CADDR 0x20 b"

val=§ ((val & ~0x08))

val=$ ((val | 0x07))

i2cset —f —y 3 $12CADDR 0x20 $val b

# Wait for Data ready

while [ 11; do
val="i2cget —f -y 3 $12CADDR 0x27 b’
if I [ $((val & 0x08)) == 0 1; then

break;

fi

done

# read values

accel_xout=$ (measure §(to_2s_complement §(read_word_register 0x28)))
accel_yout=$ (measure $ (to_2s_complement $ (read_word_register 0x2A)))
accel_zout=$ (measure $§(to_2s_complement §(read_word_register 0x2C)))
echo “kkkk Accelerometer okkx”

echo ACCEL_XOUT : $accel xout
echo ACCEL_YOUT . $accel _yout
echo ACCEL_ZOUT . $accel_zout

# Enable low power mode, data rate = 100Hz
val="i2cget —f -y 3 $12CADDR 0x20 b"

val=$ ((val | 0x08))

val=§ ((val & “0x07))

i2cset —f —y 3 $12CADDR 0x20 $val b

# delay
usleep 500000
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# 1is3dh. sh

b ATV T O FATRERIILL T O XHT20, IR E O fFaE — ERMZ SIcEZRLET,
Ve AT T N T T AGAE, [Crl] + [C12 A TLTLZEW,

# 1lis3dh. sh

skkk  Accelerometer dskek
ACCEL_XOUT : 4.224000 mg
ACCEL_YOUT : 0.512000 mg
ACCEL_ZOUT : 15. 488000 mg
kkk  Accelerometer kekk
ACCEL_XOUT : -7.680000 mg
ACCEL_YOUT : 0.512000 mg
ACCEL_ZOUT : 15. 104000 mg

CM-3G BEBEY 2 — VIR E LIS3DH 22 (3 #NRE) 4



Computex

LEEE

Bt i AAE
2016-1 1 | #IhR




Computex

B AEOARBO—EL FLIEEZHEIMCERATDIIEN BRIDILEFETEZEA.
AEDONE. BIMARICELU TR FERVICEET B ENBDFT,

B AFEFREOEERZEI O TEESNTVEIN, ZHACBS>EERICDOVTERE—YDEEZEBWHRETD T THEL
ZE0,

B COMPUTEX (&, (]R)J>Ea1—FvIRDEHRERTY
ZOMAETED LIF22HEBH IUCHRERER. —MRICRA—D—OBR. FLEIEHFHECT.

Computex

BAEHIVE1I-TYIA

X #
T605-0846 FEBTIILIR B EATH 4-432-13 HELEI o
TEL:075-551-0528(t) FAX:075-551-2585 CM-3G RBBES 12— ILIEREMXE
HRERR o LIS3DH 24 (3 BiNsEE)
TEL:03-5753-0911(ft) FAX:03-5753-9917
FH=nIEYS 2016 £ 1 A % 1K

TEL:075-551-0373 FAX:075-551-2585 CX530(A)1601




	表紙
	目次
	1. はじめに
	2. LIS3DHについて
	3. 接続図
	4.  シェル・スクリプト
	5.  シェル・スクリプトの実行
	変更履歴
	奥付

